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FM6FE10A27BHIT REBHRE/NMEERBZHBR RS BRER

REEHZES 208 T

" % REFMREFH(N) | FEFREEHN) |HEIMEEEHN) | BREFLHN) AiIEE—#E

mEm g | SoREaHA) (A) ®) ©) D= +@+c)| EFFE OO | wim w (g

e £ it £ Z it E: E:S &t £ Z it a2 £y it £ Z i 2 Z it
1 |Esrth&e 3,917] 4,327] 8,244] 1,326] 1,349] 2,675 105] 126] 231] 1,130] 1,262] 2,392 2,561] 2,737| 5,298]65.38 [63.25 [64.26 | 63.52] 63.12] 63.31
2 | REfE 2,737] 3,138] 5,875 1,073] 1,194] 2,267 0 0 o] 658] 760] 1,418] 1,731] 1,954] 3,685[63.24 [62.27 [62.72 | 63.38 [ 61.93] 62.60
3 [ KEI=EREHN 1,498] 1,468| 2,966] 471 417] 888 0 0 o] 395] 397] 792] 866] 814] 1,680[57.81 [55.45 [56.64 | 54.74]55.74 | 55.24
4 Kizt-sEBRamRISY | 3,386] 3,809] 7,195 1,252] 1,326] 2,578 0 0 o] 997] 1,156] 2,153] 2,249] 2,482 4,731[66.42 [65.16 [65.75 | 65.69 [ 63.65 | 64.60
5 <( =53 THRITSY| 2,043] 2,405] 4448 777] 888] 1,665 0 0 o] 430] 526] 956 1,207] 1,414] 2,621(59.08 [58.79 [58.93 | 58.94 [ 58.77 | 58.84
MEEES 3,310] 3,347] 6,657] 1,398] 1,312] 2,710 0 0 o] 709] 738] 1,447] 2,107] 2,050] 4,157[63.66 [61.25 [62.45 | 61.93] 59.84 | 60.87
7 |[E3/ER 2,628] 2,848] 5,476] 1,089] 1,017] 2,106 0 0 o 619] 824[ 1,443] 1,708] 1,841] 3,549/64.99 [64.64 [64.81 | 65.92] 64.58] 65.22
8 [FEI3hFEK 1,989] 1,964] 3,953 441 379] 820 0 0 o] 591] 644] 1,235] 1,032] 1,023 2,055[51.89 [52.09 [51.99 | 62.37| 61.32{ 61.82
9 |=xRaz—mmEsrr| 882| 1,086] 1,968] 423] 5471 970 0 0 o] 166] 188] 354 589] 735 1,324]66.78 [67.68 [67.28 [ 68.00] 67.78 | 67.88
10 |E2Hh2iR 3,429] 3,878] 7,307 1,500] 1,612] 3,112 0 0 o] 695] 776] 1,471] 2,195] 2,388| 4,583[64.01 [61.58 [62.72 | 64.34 | 62.41 | 63.33
11 |[ExB&aTE7/5—F| 3,025] 3.216] 6,241] 968] 982 1,950 0 0 o] 638] 676] 1,314] 1,606] 1,658 3,264[53.09 [51.55 [52.30 [ 52.97] 52.16 | 52.55
12 [FE7/hER 1,952] 1,957] 3,909] 775 742] 1517 0 0 o] 368] 392] 760] 1,143] 1,134 2,277[58.56 [57.95 [58.25 | 57.17[ 57.44]57.30
7(‘% 52 78] 130 18] 18] 36 0 0 0 0 0 o] 18] 18] 36/34.62[23.08[27.69]25.00]24.00]24.44
& &t 30,84833,521(64,369|11,511]11,783[23,294] 105] 126] 231] 7,396] 8,339]15,735/19,012[20,248[39,260]|61.63 [60.40 [60.99 | 61.33 ] 60.50 | 60.90




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

19F IR 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3917] 4327 8244 1280 1284 2564 3268 29.67] 31.10|ELthiEFT 31.96 | 28.85| 30.35
2 |AREE 2.737] 3,138[ 5875 1,005/ 1,132 2,137] 36.72] 36.07] 36.37|AREE 3844 | 36.44| 37.36
3 |KETFEH&RBA| 1,498 1,468| 2966 439 388 827 29.31] 26.43] 27.88|F1/hFH 2370 | 2127 | 2249
4 [zrsgasmr75y|  3,386] 3,809 7195 1,177] 1.254] 2431 3476 3292 33.79|mmipssit4—| 3986 3572 37.65
5 <( -5t mRIZY|  2,043] 2405 4,448 749 861 1,610 36.66] 3580 36.20[<ict-uimETSY| 3880 | 3769 38.19
6 [F2/hFERK 3,310 3347 6,657 1,307] 1.236] 2543] 39.49] 36.93] 38.20[F2/MFER 39.79 | 36.62 | 38.20
7 |FEIINER 2628 2848| 5476/ 1,037 955[ 1,992 39.46] 33.53] 36.38]F3/NER 39.43| 34.89| 37.06
8 |FEIHER 1,989] 1,964 3,953 425 361 786| 21.37[ 18.38] 19.88|F4/NFH 29.03 | 2504 | 26.94
9 |=tRaz-—mEmEsm 882 1,086 1,968 404 524 028] 4580] 4825 47.15|strsz-—mEmesm| 4795| 4851 48.26
10 (20 3429 3878| 7,307[ 1.421] 1513] 2934 4144] 39.01[ 40.15|F 2%k 4055 37.73| 39.08
11_[8+8s47E7,—H] 3025| 3216] 6.241 929 940/ 1,869 30.71] 29.23] 29.95|F6/MFiR 31.90 | 29.35[ 30.59
12 711\;& 1,952] 1,957 3,909 742 706] 1,448 38.01] 36.08] 37.04|F7/MhFEKR 36.98| 35.05| 36.04
& &t 30,796 33,443| 64,239 10915 11,154 22,069 3544] 3335 3435 & § 36.02| 3340[ 3466
HKEMSERELY —HRERRVREMNERLL>THEYET,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

18R IR 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3917] 4327 8244 1,196 1,175 2,371] 3053] 27.16] 28.76|E L th{EFT 29.85| 26.90] 28.32
2 |AREE 2,737| 3,138| 5,875 926] 1,039 1965 33.83] 33.11] 3345|AREE 35.29| 34.04] 3462
3 |KETFEH&RBA| 1,498 1,468| 2966 419 371 790 2797 2527 26.64|F1/NFRR 22.36] 20.24] 21.30
4 [zrsmsmr75v|  3386] 3,809] 7,195 1,090 1,154] 2244 32.19] 30.30] 31.19|m#uEiEst5—| 36.89] 33.08] 34.85
5 <( -5t mRIZY|  2,043] 2405 4,448 698 800] 1,498 34.17] 33.26] 33.68 <c =5dtmRISY|  36.47] 35.69] 36.04
EFEEA 3,310 3347 6,657] 1220 1,137] 2357 36.86] 33.97] 3541[F2/FER 36.78] 33.35] 35.05
7 |E3/NER 2,628 2848 5476 972 896/ 1,868 36.99] 31.46] 34.11|FEI/NFERx 36.52] 3254 34.45
8 |[FE3dhFEHK 1,989] 1,964] 3,953 398 331 729]  20.01] 16.85] 18.44[F 4/ Fk 27.09] 2397[ 2545
9 |=tRaz-—mEmEsm 882 1,086 1,968 383 502 885 4342 4622] 4497|ztrsz-—mneswm| 4527 4593 4564
10 (20 3,429 3878 7.307] 1,325] 1,400 2725 38.64| 36.10] 37.29[F2thFER 37.96] 3477 36.30
11_[s+tRaaTE7—r] 3025] 3216 6.241 872 870 1,742 2883] 27.05] 27.91|FE6/hFk 2054 27.18] 2833
12 711\;& 1,952] 1,957 3,909 694 656] 1,350] 35.55| 33.52] 34.54|F7/IMFERKR 34.73] 32.63] 33.71
& &t 30,796| 33.443| 64,239] 10,193] 10,331] 20,524] 33.10] 30.89[ 31.95 & § 3354 31.10] 32.27

KBS EDRELY - BRERRUVREMHNERLLGH>TEYEY,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

178187
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3917] 4327[ 8244 1,095 1,062 2,157 27.96] 2454] 26.16|ELhEFT 27.13| 24.42| 2573
2 |AREE 2,737| 3,138| 5,875 835 929] 1,764 3051] 2960 30.03|NE£E 31.80] 30.47| 31.09
3 |KETFEH&RBA| 1,498 1,468| 2966 382 339 721 25501 23.09] 2431|F1/NFERR 20.72] 1852 19.62
4 [<zr-e®mmmEIS>y| 3,386] 3,809 7,195 973 1,015 1,988 2874 26.65] 27.63|miiEiEstrs—]| 3350/ 29.58] 31.40
5 <( -5t mRIZY|  2,043] 2405 4,448 640 720] 1,360] 31.33] 29.94] 3058[Kizt-£dtmEFS¥| 33.43] 33.24] 33.32
6 [F2/hFERK 3,310 3347 6,657] 1,138 1,042] 2,180 34.38] 31.13] 32.75[F2/hFER 33.48| 30.02[ 31.74
7 |FEIINER 2628| 2848 5476 893 798| 1,691 33.98] 2802 30.88|FE3/NFEWR 3424] 30.12] 32.09
8 |FEIHER 1,989 1,964] 3,953 367 302 669| 18.45[ 15.38] 16.92|F4/NFH 2485 21.90] 23.30
9 |=tRaz-—mEmEsm 882 1,086 1,968 344 453 797] 39.00] 4171 4050lztrsz-—mwesm| 4231 4311 4275
N EFLES S 3,429 3878 7.307] 1.206] 1,268 2474] 35.17| 32.70] 33.86|F2thFER 34.26] 31.07] 3259
11 =:tE’*4TE7/\°—I~ 3,025 3.216[ 6,241 800 801 1,601 26.45] 24.91] 2565/F6/MNERKR 27.47] 25.34] 26.38
12 711\;& 1,952] 1,957 3,909 637 591 1,228 32.63] 30.20] 31.41|F7/MFE# 31.95] 2986 30.94
& &t 30,796 33,443| 64,239 9310 9,320 18,630 30.23] 27.87] 29.00 & § 30.71] 28.32[ 2947
HKEMSERELY —HRERRVREMNERLL>THEYET,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

168518 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3917] 4327] 8,244 978 943| 1,921 2497] 21.79] 23.30|EIth&EFR 2492| 2202| 2342
2 |AREE 2,737| 3,138| 5,875 754 836] 1,590 2755 26.64] 27.06|AREE 2854 26.51| 27.45
3 |KETFEH&RBA| 1,498 1,468| 2966 341 299 640 22.76] 2037 21.58|F1/NFRR 18.43] 16.22] 17.32
4 Kizr-sRemrR75Y| 3,386 3,809 7,195 860 875] 1,735] 2540 2297] 2411|EmuuEEsE 59— 2961 25.86] 27.60
5 <( -5t mRIZY|  2,043] 2405 4,448 585 648 1,233] 2863] 2694] 27.72Kizt=biHEISY| 3060/ 30.67] 30.64
6 |FE2/NER 3,310/ 3,347| 6,657[ 1,018 898] 1,916 30.76] 26.83] 28.78[F2/NFER 29.95| 26.63] 28.28
7 |EI3/NER 2,628 2848 5476 799 711 1510 30.40] 24.96] 2757|F3/NFERx 31.10] 27.06] 29.00
8 |FEIHER 1,989 1,964] 3,953 327 264 591| 16.44| 13.44] 1495|F4/NF 22.79] 20.25| 21.45
9 |=tRaz-—mEmEsm 882 1,086 1,968 310 409 719] 35.15] 37.66] 3653|ztrsz—mmweam| 3830 38.99] 38.69
10 (20 3429 3878| 7,307[ 1,094 1,130 2224 31.90] 29.14] 30.44|F2FFK 30.86] 27.36] 29.03
11 =:tE’*4TE7/\°—I~ 3,025 3.216[ 6,241 718 710 1,428 23.74] 22.08] 22.88|F6/MERKR 25.05| 23.23] 2412
12 711\;& 1,952] 1,957 3,909 574 526/ 1,100 29.41| 26.88] 28.14|F7/NFE#x 2987 2758 28.76
& &t 30,796 33,443| 64,239 8358 8,249 16,607 27.14] 2467 2585 & § 27.82] 25.36] 26.54
HKEMSERELY —HRERRVREMNERLL>THEYET,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

15818 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3917] 4327] 8,244 876 826] 1,702 22.36] 19.09] 20.65|EIH{RF 2215 19.57| 20.82
2 |AREE 2,737| 3,138| 5,875 672 721 1,393 2455 2298 2371|NEfE 25.32] 2353| 2436
3 |KETFEH&RBA| 1,498 1,468| 2966 312 266 578 20.83| 18.12] 19.49|F 1/ F#R 16.78] 1450] 15.64
4 Kizr-sRemrR75Y| 3,386 3,809 7,195 755 753] 1,508] 2230 19.77] 2096|miuEpstw 42— 2596] 22.26] 23.98
5 <( -5t mRIZY|  2,043] 2405 4,448 523 557 1,080] 25.60] 23.16] 24.28[Kizt-£dmEFS¥| 28.06] 27.64] 27.83
6 |E2/hFER 3,310 3,347 6,657 912 784] 1,696 2755 23.42] 2548|F2/NFERR 27.23] 2331 2525
7 |EI3/NER 2,628 2848 5476 725 635 1,360 2759 22.30] 2484|F3/hFERx 28.31] 2472 26.44
8 |[FE3dhFEHK 1,989] 1,964] 3,953 290 236 526] 1458 12.02| 13.31[F4/hFHk 20.32] 17.79] 18.99
9 |=tRaz-—mEmEsm 882 1,086 1,968 283 367 650/ 32.09] 33.79] 33.03|ztrsz-mmwesm| 3486] 3572 35.34
10 (20 3,429| 3,878 7307 980 998| 1,978 28.58] 2573 27.07|FE2FFKR 27.62| 23.48| 25.46
11 =iEA4TE7/\°—I~ 3,025 3.216[ 6,241 671 657 1,328 22.18] 20.43| 21.28|F6/MER 2330 21.67| 2247
12 711\;& 1,952] 1,957 3,909 515 474 989 26.38] 24.22] 2530|F7/NFERx 2759 2490 26.28
& &t 30,796 33,443| 64,239 7514 7274 14,788 24.40] 21.75] 23.02 & 25.13] 2257] 23.80
HKEMSERELY —HRERRVREMNERLL>THEYET,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

14518 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3917] 4327] 8,244 769 723] 1492 19.63] 16.71] 18.10|EIh#&FR 19.39] 17.07] 18.19
2 |AREE 2,737| 3,138| 5,875 562 587 1,149 2053] 1871 1956|NEEE 21.91] 20.64] 21.23
3 |KETFEH&RBA| 1,498 1,468| 2966 268 229 497 1789 15.60] 16.76|F 1/hFH 15.18] 13.39] 14.28
4 Kizr-sRemrR75Y| 3,386 3,809 7,195 654 628] 1,282 19.31] 16.49] 17.82|mmuEmpsitw 24— 2258 18.73] 2052
5 <( -5t mRIZY|  2,043] 2405 4,448 445 477 922] 21.78] 19.83] 2073[Kizt-sittiRTSH| 2445] 2433] 24.38
6 [F2/hFERK 3,310 3,347 6,657 787 683 1,470 23.78] 2041] 22.08|FE2/ FE#x 2400 2027[ 2212
7 |EI3/NER 2,628 2848 5476 631 5411  1,172] 2401 19.00] 21.40|%E 3/hFEHx 25.60] 2162 2353
8 |FEIHER 1,989 1,964] 3,953 251 207 458] 12.62] 1054] 1159|F4/NF 17.96] 15.13] 16.48
9 |=tRaz-—mEmEsm 882 1,086 1,968 235 308 543] 26.64] 2836] 2759|ztrsz-—mweam| 32.19] 3191 32.03
10 (20 3,429| 3,878 7307 875 859] 1,734 2552| 22.15| 23.73|F2dFEKR 2477 20.72] 22.65
11 =:tE’*4TE7/\°—I~ 3,025 3.216[ 6,241 571 550 1,121 18.88] 17.10] 17.96|FE6/NFEKR 21.56] 19.13] 20.31
12 711\;& 1,952] 1,957 3,909 458 417 875 2346 21.31] 22.38|F7/NFERKR 25.09] 2235 23.76
& &t 30,796 33,443| 64,239 6,506 6,209 12,715 21.13] 1857 19.79 & § 2242] 1982 21.07
HKEMSERELY —HRERRVREMNERLL>THEYET,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

13018 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) BEEH (N BERE (%) AIERER (%) _
e = 2 z it 2 z it 2 = B BErm£ E:] = it
1 |EMHRFR 3917] 4327] 8,244 625 570] 1,195 15.96] 13.17] 14.50|FEIh#&FR 17.17] 14.86] 15.98
2 |AREE 2,737| 3,138| 5,875 464 475 939 16.95] 15.14] 1598|AEfE 18.99] 17.40] 18.14
3 |KETFEH&RBA| 1,498 1,468| 2966 222 180 402 1482 12.26] 1355|F1/hFR 13.38] 11.90] 12.64
4 [<zr-e®mmmEIS>y| 3,386] 3,809 7,195 536 506] 1,042] 15.83] 13.28] 1448|mmuEpsitrs4—| 1885 15.45] 17.03
5 <( -5t mRIZY|  2,043] 2405 4,448 366 380 746] 1791 1580 16.77[Kizr=sdtRTFS¥|[ 21.91] 2050 21.13
6 [F2/hFERK 3,310 3,347 6,657 631 534 1,165 19.06] 15.95] 17.50|F2/NFR 2123 17.75] 19.47
7 |EI3/NER 2,628 2848 5476 524 457 981] 19.94| 16.05] 17.91[FE3/hFERK 2208 19.06] 20.50
8 |FEIHER 1,989 1,964] 3,953 213 180 393] 10.71 9.16 9.94| FE4/NFR 15.61] 13.05] 14.27
9 |=tRaz-—mEmEsm 882 1,086 1,968 203 257 460] 2302 2366] 2337|=tmsz-—mmesm| 29.13] 27.80] 28.39
N EFLES S 3,429 3878 7,307 742 694] 1,436 21.64] 17.90] 19.65|F2hFik 21.04] 1699 1892
11 =:tE’*4TE7/\°—I~ 3,025 3.216[ 6,241 479 459 938 15.83] 14.27] 15.03|F6/MERKR 18.81] 16.50] 17.62
12 711\;& 1,952] 1,957 3,909 381 354 735] 19.52] 18.09] 18.80[F 7/MFEH 2268 20.16] 21.46
& &t 30,796 33,443| 64,239 5386 5046 10432] 17.49] 15.09] 16.24 & 1958 17.04] 18.26
HEHMSERB LY —BRERRVREMNERLLE>TEYET,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

120538 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3,917| 4327| 87244 505 449 954| 12.89] 10.38] 11.57|Erh{%Fr 13.65] 11.73] 12.66
2 |AREE 2,737| 3,138| 5,875 373 375 748 13.63] 11.95] 12.73|AEfE 1554 14.02] 14.73
3 |KETFEH&RBA| 1,498 1,468| 2966 181 146 327] 12.08 9.95] 11.02[5 1/ 11.28] 10.21] 10.75
4 Kizr-sRemrR75Y| 3,386 3,809 7,195 412 389 801 12.17[ 1021 11.13|FmmsEpssétw 52— 14.91] 11.48] 13.07
5 <( -5t mRIZY|  2,043] 2405 4,448 295 315 610] 14.44] 13.10] 13.71[Kizr=sHR TS5 1880] 16.90] 17.75
6 [FE2/hFER 3,310 3,347 6,657 531 423 954] 16.04] 1264 14.33[F 2/ FER 17.63] 14.74] 16.18
7 |EI3/NER 2,628 2848 5476 435 382 817| 1655 13.41] 14.92|E3/hFEk 18.71] 15.65] 17.11
8 |[FE3dhFEHK 1,989] 1,964] 3,953 183 152 335 9.20 7.74 8.47|E 4/NER: 13.37] 10.76] 12.00
9 |=tRaz-—mEmEsm 882 1,086 1,968 167 200 367] 18.93] 1842 1865|ztrsz—mweam| 2359] 2254 23.01
10 (20 3,429| 3,878 7307 617 562] 1,179 17.99] 14.49] 16.14|FE 2K 17.54] 13.73] 1555
11_[8+8s47E7,—H] 3025| 3216] 6.241 417 395 812 13.79] 1228 13.01|FE6/hFH 16.52] 13.99] 15.22
12 711\%& 1,952] 1,957 3,909 316 293 609 16.19] 14.97] 1558|F 7/ FE#x 20.27| 1801 19.17
& &t 30,796 33,443| 64,239 4432 4081 8513 1439 1220/ 1325 & § 16.39] 13.97] 15.13
HKEMSERELY —HRERRVREMNERLL>THEYET,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

1R
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3917] 4327] 8,244 385 318 703 9.83 7.35 8.53|E I mfR PR 9.78 7.32 8.51
2 |AREE 2,737| 3,138| 5,875 271 258 529 9.90 8.22 9.00| N EEE 10.42 9.24 9.79
3 |KETFEH&RBA| 1,498 1,468| 2966 141 108 249 9.41 7.36 8.40|F 1/ 9.02 7.92 8.47
4 Kizr-sRemrR75Y| 3,386 3,809 7,195 282 249 531 8.33 6.54 7.38|mihiEfE ¢t %—]  10.55 7.73 9.04
5 <( -5t mRIZY|  2,043] 2405 4,448 223 218 441  10.92 9.06 991[Kiz=btmRTFSY| 1527] 13.65] 14.37
6 |E2/hFER 3,310 3,347 6,657 415 323 738] 1254 9.65| 11.09|5E2/\2E8s 13.44] 10.70] 12.06
7 |EI3/NER 2,628 2848 5476 324 268 592 12.33 9.41] 10.81|53/NEks 13.13] 1056] 11.79
8 |FEIHER 1,989 1,964] 3,953 131 100 231 6.59 5.09 5.84| 4 /NFRR 10.13 7.83 8.92
9 |=tRaz-—mEmEsm 882 1,086 1,968 131 135 266] 14.85] 1243] 1352|ztrsz—mwesm| 1652 1401 15.13
10 (20 3,429| 3,878 7307 449 390 839] 13.09] 10.06] 11.48|F2hF&K 12.80 945 11.05
11 =:tE’*4TE7/\°—I~ 3,025 3.216[ 6,241 313 286 599[ 10.35 8.89 9.60[F 6/ FH 13.87] 10.13] 11.95
12 711\;& 1,952] 1,957 3,909 251 210 461 1286 10.73] 11.79|F7/hF8 1479] 11.81] 13.34
& &t 30,796| 33,443| 64239 3316] 2863] 6,179] 10.77 8.56 9.62 & § 12.17 9.66 10.86
HKEMSERELY —HRERRVREMNERLL>THEYET,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

10838 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BREXR (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = BErm£ E:] = it
1 |EMHRFR 3917] 4327] 8,244 234 173 407 5.97 4,00 4.94|E &R 5.91 426 5.06
2 |AREE 2,737| 3,138| 5,875 179 158 337 6.54 5.04 5.74| N EEE 6.56 5.05 5.75
3 |KETFEH&RBA| 1,498 1,468| 2966 95 71 166 6.34 484 5.60| 5 1/ 5.08 4.06 457
4 [<zr-e®mmmEIS>y| 3,386] 3,809 7,195 173 139 312 5.11 3.65 4 34|m g fh 2 — 6.82 4.16 5.39
5 <r -5t mRIZY|  2,043] 2405 4,448 139 122 261 6.80 5.07 5.87[<Ict-bTHRTSY 7.99 7.14 7.52
6 |FE2/NER 3,310] 3,347[ 6,657 270 188 458 8.16 5.62 6.88| 2/ FHx 8.21 6.21 7.20
7 |FEIINER 2628| 2848 5476 215 149 364 8.18 5.23 6.65|F 3/ 7.71 5.62 6.62
8 |FEIHER 1,989 1,964] 3,953 96 68 164 4.83 3.46 4 15| FE4INERR 5.89 3.78 478
9 |EtRAE—FERR 882 1,086 1,968 85 75 160 9.64 6.91 8.13|Etres—MimESii 9.46 6.93 8.05
N EFLES S 3,429 3878 7,307 276 196 472 8.05 5.05 6.46|FE 2 7.54 491 6.17
11_[8+8s47E7,—H] 3025| 3216] 6.241 185 150 335 6.12 4.66 5.37| F 6/ FR 7.92 5.36 6.60
12 711\;& 1,952] 1,957 3,909 174 129 303 8.91 6.59 7.75|E 7 /NFERL 9.26 6.28 7.81
& &t 30,796 33,443| 64,239] 2121 1618 3,739 6.89 4.84 5.82 & § 7.24 5.17 6.16
XS RIDERE LY —BRERRVBRERNERLLE>TEYET,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

ORFIRTE
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BREXR (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = BErm£ E:] = it
1 |EMHRFR 3917] 4327] 8,244 137 77 214 3.50 1.78 2.60|E IR 2.92 1.65 2.26
2 |AREE 2,737 3,138[ 5875 92 82 174 3.36 2.61 2.96| N EEE 3.68 2.13 2.85
3 |KETFEH&RBA| 1,498 1,468| 2966 57 35 92 3.81 2.38 3.10[F 1/ 3.06 1.64 2.35
4 [<zr-e®mmmEIS>y| 3,386] 3,809 7,195 88 65 153 2.60 1.71 2.13|Ehig 2 — 3.26 1.73 2.44
5 <( -5t mRIZY|  2,043] 2405 4,448 81 57 138 3.96 2.37 310[KIct-b R TSY 3.89 2.74 3.25
6 [F2/hFERK 3,310 3,347] 6,657 147 84 231 444 2.51 347\ FE 2/ 4.14 2.62 3.37
7 |E3/NER 2,628 2848 5476 134 81 215 5.10 2.84 3.93| E 3/ 3.64 2.56 3.08
8 |[FE3dhFEHK 1,989] 1,964] 3,953 49 31 80 2.46 1.58 2.02|E4INER: 2.89 144 2.13
9 |=tRaz-—mEmEsm 882 1,086 1,968 52 40 92 5.90 3.68 467|ztRa%—EnEsn 487 2.51 3.56
10 (20 3,429 3.878| 7,307 154 86 240 4.49 2.22 3.28| FE 2R 3.86 1.89 2.83
11_[8+8s47E7,—H] 3025| 3216] 6.241 91 78 169 3.01 2.43 2 71| E 6/ Fk: 4.30 2.82 3.54
12 711\;& 1,952] 1,957 3,909 103 78 181 5.28 3.99 4 63| 7 INFRR 453 2.85 3.71
& &t 30,796 33,443 64,239 1,185 794 1,979 3.85 2.37 3.08 & § 3.70 2.18 2.91
XS RIDERE LY —BRERRVBRERNERLLE>TEYET,




TMEF10A27HHIT REHR/NEBEREHBRRE R ER

SHFIRTE
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BREXR (%) AIERER (%) _
e = 2 z it 2 z it 2 = BErm£ E:] = it
1 |EMHRFR 3,917| 4327| 87244 48 18 66 1.23 0.42 0.80|E I mif& PR 1.08 0.64 0.85
2 |AREE 2,737 3,138[ 5875 37 29 66 1.35 0.92 12| N REE 1.29 0.69 0.97
3 |KETFEH&RBA| 1,498 1,468| 2966 26 10 36 1.74 0.68 1.21|F1/INVER 0.92 0.27 0.59
4 [<zr-e®mmmEIS>y| 3,386] 3,809 7,195 34 23 57 1.00 0.60 0.79[mE s s 4—|  1.31 0.55 0.91
5 <( -5t mRIZY|  2,043] 2405 4,448 26 22 48 1.27 0.91 1.08[KIzt-6 kR TS Y 1.27 0.86 1.04
6 |F2/hFH 3,310 3,347 6,657 62 34 96 1.87 1.02 1.44| E 2/ E8% 1.63 1.13 1.38
7 |E3/NER 2,628 2848 5476 48 28 76 1.83 0.98 1.39 F 3/NERR 1.59 0.96 1.26
8 |FEIHER 1,989 1,964] 3,953 18 11 29 0.90 0.56 0.73| 4 /NERR 1.24 0.43 0.81
9 |=tRaz-—mEmEsm 882 1,086 1,968 21 16 37 2.38 1.47 188|ztres—mnseam| 229 0.99 1.57
10 (20 3,429| 3,878 7307 56 34 90 1.63 0.88 1.23|F 20 FK 1.63 0.94 1.27
11 =:tEA4TE7/\°—I~ 3,025 3.216[ 6,241 37 27 64 1.22 0.84 1.03|E 6/NFERR 1.62 1.22 1.41
12 711\;& 1,952] 1,957 3,909 40 27 67 2.05 1.38 1.71|E7/INERR 2.53 1.23 1.90
& &t 30,796| 33,443[ 64,239 453 279 732 1.47 0.83 1.14 & § 1.50 0.83 1.15
XS RIDERE LY —BRERRVBRERNERLLE>TEYET,




